OBt ERUVBEEDONRILFEYERIEFHER
B - BEVERIDEE (EBR)

x®1-2 #HENFRR - £25%E
(1/6R=2)

sz BEBEFL) HEHE () BRI () HFH R (ko/ 59" 4449788 dng- TEQ/ %) e SR
B -8
3 ok o
ug WEEH i | 5w | 2 | x| ok | o e | aar | % | x| ek | xs DEB | 1w | mu | an | FRP | o | e
E %
1 [FERD KB HEILEY 22 X 1 21 0 o 22 4 1 5 72 1209 0 0 1281 | 138650 3| 138653 | 139934
4170 VIV RV F DKBMEE 1 0 1 0 1 0 0 1 0 0 0 0 16 0 0 16 0 0 0 16
1N\7oUIEE)IV<IL—TF)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 29 0 29 29
BZ7EN=NYIL 1 1 2 1 0 0 0 1 1 0 1 0 0 0 0 0 1600 0 1600 1600
2012—773)xT% /=)L 3 3 5 3 1 0 0 4 3 0 3 3504 0 0 0 3504 10801 0 10801 14305
30@%}»#%MVHLAKW$ BRUZD 2 1 4 0 2 0 0 2 1 0 1 0 445 0 0 445 2 0 2 447
B (ZILFILEORBHNS100E14F
T@%@&U%@%m%kméo)
N|FYFEVROZFDIEEY 0 6 6 0 0 0 0 0 6 0 6 0 0 0 0 0 3464 0 3464 3464
33 |ak 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 760 0 760 760
37|14, 4’ —qvFaByYFI Iz /=) 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 510 0 510 510
GEASEPEI TS
41|37 —qy7ORFy— 2—|\)7)1,7r|:| 1 0 1 1 1 0 0 2 0 0 0 2 0 0 0 2 0 0 0 2
1?»A/17—Uh( |27 k5=
)
311, 17 = [43)Y (FU99XAFL 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1
‘/% 1o097=vy MEA1Z /049D
>
80— FI=0—4—=pFO7zx=)L= 7 0 26 0 7 0 0 7 0 0 0 0 981 0 0 981 0 0 0 981
TIZ)VKRRAKR/FAT—~ (B4
EPN)
B|lTFIARUEY 185 1| 18| 185 0 0 o| 185 1 0 11| 290950 0 0 o| 290950 6444 0 6444 | 297394
56| TFLVAFUR 2 0 2 2 1 0 0 3 0 0 0 303 470 0 0 773 0 0 0 773
s7lxFL ) I=ILE/ ITFIIT—FI) 3 1 3 3 0 0 0 3 1 0 1 369 0 0 0 369 19 0 19 388
60| TFL T I VBEEE 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 27 0 27 27
64|12— (4—ITbhF>T7xT)V) —2—XF 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
IWTAEN=3—-2Jx/FIRVIIT—
T BIET 7z FOv I R)
71 B E 8% 0 1 3 0 0 0 0 0 1 0 1 0 0 0 0 0 58000 o| 58000 58000
BN —F945 /=) 1 0 1 1 1 0 0 2 0 0 0 29 30 0 0 59 0 0 0 59
BIARIVLRTZDILEY 6 o| 26 0 6 0 0 6 0 0 0 0 13 0 0 13 0 0 0 13
A EA D 199 18] 218 199 0 0 o| 199 18 0 18| 499244 0 0 0| 499244 10555 o| 10555 | 509799
82 BRR U Z DAL EY 1 2 4 1 0 0 0 1 2 1 3 6 0 0 0 6 40 4 45 50
83|y AV 1 0 1 1 0 0 0 1 0 0 0 1 0 0 0 1 0 0 0 1
847U AXH—)I 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 5 0 5 5
87 (7 O LRUV=M7 OL{bEY 7 3 29 1 7 0 1 9 3 0 3 4 437 0 24 465 6630 0 6630 7095

PRHFRE © FERR22FE



OBt ERUVBEEDONRILFEYERIEFHER
1. B - BEIERIOSKE (EER)

x®1-2 #HEFRR - £25E
(2/6R=2)

sz BEBEFL) HEHE () BRI () HFH R (ko/ 59" 4449788 dng- TEQ/ %) e SR
Bl - %
- - 25
T KA =
) WEAT et | m | om |k |k [t | mu |ont | = [ & |est| xn | B8P | tm | mu | ax [ PGP | Ko | e
L] E #%E
88 [Nl 7 O L b &Y 8 o 27 1 7 0 0 8 0 0 0 0 437 0 0 438 0 0 0 438
02—y —-2", 6 —=YITFI—N-— 1 1 1 1 0 0 0 1 1 0 1 0 0 0 0 0 30 0 30 30
(2=—7ORF>TFIN) FEINT7ZUKR
F&FLFSoE0—I)
lsooso40x48> (BIZHCFC— 2 o 2 2 0 0 0 2 0 0 0 2600 0 0 0 2600 0 0 0 2600
22)
M3|2—so00—-4, 6—EXR (ZTFILT7 I 5 0 26 0 5 0 0 5 0 0 0 0 4 0 0 4 0 0 0 4

J) —1, 3, 6=hNUTIY (Bl&I~
JURIFCAT)

11514 — (2—s007zx=J)L) —N—=—>40O 1 1 1 1 1 0 0 2 1 0 1 0 0 0 0 0 9 0 9 10
NFII)I-N—IFI—4, 5—YER
A=5—FFY—1TH=-Fr5V—)L—
L;b)bd’ifrﬂs F Bl&7zY 553

127 |7 @ @RIV A 1 1 1 1 0 0 0 1 1 0 1 3 0 0 0 3 23 0 23 26

132 |80 NRUFDIESY 1 2 3 0 1 0 0 1 2 0 2 0 5 0 0 5 260 0 260 265

1BEEEE2— T b+ TFIL (RIETFLVY 1 0 1 1 0 0 0 1 0 0 0 3 0 0 0 3 0 0 0 3
DIA—ILE/IFINI—FTILF7ET—H)

134 |[BEEE E =)L 2 0 2 2 1 0 0 3 0 0 0 3417 2 0 0 3419 0 0 0 3419

144 IE#;‘E/ ToeEY (BERUVYT7VERIES 8 1] 27 0 ) 0 0 8 1 0 1 0 947 0 0 947 3830 0 830 1777

147IN, N=YITFINFAAIN/NIVEES -
4—yoaRvI) (EFARVAILT
RIERVFFAH—T)

148N, N—YTFIWL—-3—- (2, 4, 6—Fh 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 14 0 14 14
DAFINTTZJVRIR=)V) —1H=—
1, 2, 4=RFYT7Y—=ILb—1—-HILKR*
YIR BIgHT7z R A=)

149 |PUig{bix R 6 o 27 0 6 0 0 6 0 0 0 0 1 0 0 11 0 0 0 1
1521, 3= AHIWNREASILFA—2— (N, 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
N—IUXFITI/) =7y (Bl&h
ey )
15711, 2=y 0B0T4H YV 6 o] 26 0 6 0 0 6 0 0 0 0 1 0 0 1 0 0 0 1
1581, 1—=rsO00xTFL Yy (BlEELRLE= 5 0 26 0 5 0 0 5 0 0 0 0 11 0 0 1 0 0 0 11
UT>)
159[>2—1, 2=y Q00T F LV 6 0 26 0 6 0 0 6 0 0 0 0 11 0 0 1 0 0 0 1

PRHFRE © FERR22FE



OBt ERUVBEEDONRILFEYERIEFHER
B - BEVERIDEE (EBR)

x®1-2 #HENFRR - £25%E
(3/6~R=2)

sz BEBEFL) HEHE () BRI () HFH R (ko/ 59" 4449788 dng- TEQ/ %) e SR
Bl - %
B T TKE §§
] WA s | m | 2ok | s | vk | (e | an | x| A ear | ks | 5 | ew | mw | e RN Ko | ewt
E #%E
1693 — (3, 44—y oO7xz=J)) —1, 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
1 =IXFILERE BIEY O
DCMU)
17911, 3—vooa7ORY (Bl4D—D) 5 0 26 0 5 0 0 5 0 0 0 0 11 0 0 1 0 0 0 1
18314 — (2, 4—ysO00RVYVAI) 1 1 1 1 1 0 0 2 1 0 1 0 4 0 0 4 110 0 110 114
-1, 3=IUAFIL-5-ESVYIL
E4I¢»Iyz»$+—h(m%559
186 |7 oOx4y (BEEEXFLY) 1 1] 32 6 5 0 of 1 1 0 1 58125 1 0 o| 58136 75 0 75 | 58211
1911, 3=YFFSv—2—)Fr~xaAv 1 1 1 1 1 0 0 2 1 0 1 2 9 0 0 1 1 0 1 1
@? A4V 7OEl (Bl&a Y 7aF45
>
196 [ F4Y ABES— (2, 3—kRO- 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
5—AMFv—2—FFYy—-1, 3, 4—
FFOTFYI—IN—3—4L) XF)— o,
O—IXAFI (BlBEAFIFAUXIE
DMTP)
21002, 2—-y7JO€E—2—->7/7ErT7X 1 0 1 0 1 0 0 1 0 0 0 0 640 0 0 640 0 0 0 640
K
230|IN— (1, 3= XAFILTFI) —N - 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 770 0 770 770
71_»—A7 2x=LVITF7IV
232N, N=IUAXAFJHRILLT IR 1 1 2 1 0 0 0 1 1 0 1 7600 0 0 0 7600 3 0 3 7603
237 PKERR UV ZDILEY 6 o 26 0 6 0 0 6 0 0 0 0 6 0 0 6 0 0 0 6
239 |EHEX L&Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 7 0 7 7
200 |2F L v 4 2 5 4 0 0 0 4 2 0 2| 25620 0 0 o] 25620 422 0 422 | 26042
2w 2L ROZFDIEEY 6 o| 26 0 6 0 0 6 0 0 0 0 44 0 0 44 0 0 0 44
23|54 x> 88 2| 13| 2 20 3 0 A E) 13 0 13| 1281.896 | 3.7392 o| 25969 | 27254. 63 | 2020. 621 0 | 2020. 621 | 29275. 25
3 55| 80026 80026 | 730026
248 |FA Y ABEO, O—YITFIL—-0— (2— 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AV 7OEIN—6—XFI—4—-EYIY
—) (RETATY /)
251 [FAYAERO, O—YXFI—0— (33— 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
AFI—4—=tO7zz=l) (BIEZLTzx
—rOFAVXIEME P)
%5 |15 ATOES I T—F)L 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
2581, 3, 5, 7T—-Fh3>7HF MU0 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2000 0 2000 2000
[3. 3. 1. 1(3, 7)1 FAaAY (B
EAFYAFLYTFESIY)

B : TR22EE



OBt ERUVBEEDONRILFEYERIEFHER

1. B - BEIERORS  (EHR)
x1—-2 #FWEFERH - £XfE
(4/6 R=)
sEmE BEFLIE () ) BB () S4B (ko4 5" (1494 dng-TEQ/ ) BIE (ko 0 VR
Bl - %
B T TKE %é
] WA s | m | 2ok | s | vk | (e | an | x| A ear | ks | 5 | ew | mw | e RN Ko | ewt
E #%E
YT RSITFIFISLIRILT 4 K (Bl 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 8 0 8 8
V2T 145L)
2614, 5, 6, 7T—Fh>2004YRVY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
z?y—1(3H)—jy(m%7v54
62| b0 FL YV 6 0 26 0 6 0 0 6 0 0 0 0 1 0 0 11 0 0 0 1
26557 RS E RO XFILEKD D ILEE 0 3 3 0 0 0 0 0 3 0 3 0 0 0 0 0 1589 0 1589 1589
26875 RSAFIFISLTSZILT 14 R (B% 6 1 27 0 6 0 0 6 1 0 1 0 22 0 0 22 480 0 480 502
FIOSLIIIF L)
272 BAAKCANE GEEER<, ) 10 1 27 0 10 0 0 10 0 1 1 0 93 0 0 93 0 9 9 102
2791, 1, 1—KNYoOpxTHd v 6 0 26 0 6 0 0 6 0 0 0 0 11 0 0 1 0 0 0 1
280(1, 1, 2—hKNYsooOxTd>v 6 0| 26 0 6 0 0 6 0 0 0 0 11 0 0 11 0 0 0 11
21|20 FL v 7 0 27 1 6 0 0 7 0 0 0 2300 1 0 0 2311 0 0 0 2311
206 (1, 2, A=K XFILRVEY 172 3| 181 172 0 0 0| 172 3 0 3 6805 0 0 0 6805 21 0 21 6826
2971, 3, E—RKRUAFIRVEY 70 3| 107 70 0 0 0 70 3 0 3 1648 0 0 0 1648 13 0 13 1661
28N LY AYSTR— R 1 1 1 1 0 0 0 1 1 0 1 26 0 0 0 26 1900 0 1900 1926
00 |MILT Y 198 20| 199 198 0 0 o] 198 20 0 20| 549160 0 0 0| 549160 48278 0| 48278 | 597438
2 (X745 LY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
304 |54 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 150 0 150 150
305 [ER1b &4 9 5 30 0 9 0 0 9 5 1 6 0 132 0 0 132 54480 1 54481 54613
308 |=w &)L 0 1 3 0 0 0 0 0 1 1 2 0 0 0 0 0 790 8 798 798
309 |= v 7 ILiE & 2 3 5 0 2 0 0 2 3 2 5 0 12 0 0 12 1305 8 1313 1326
321 I+ AL EY 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2700 0 2700 2700
3232, 4—ER (ZFITIJ)) —6—XF 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4 4
IFA—1, 3, 5—hYT7TY (Bl&EY
X KY)
329|ER (N, N=UAFILOFAHILINI Y 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 54 0 54 54
E2) N, NN —TFLYER (FAAILN
E;»%#ﬁ%)(w%ﬁUﬁ—Nx—
332 [t ER U F DEREEY 9 o] 26 0 9 0 0 9 0 0 0 0 47 0 0 47 0 0 0 47
333l kST 0 1 3 0 0 0 0 0 1 1 2 0 0 0 0 0 2400 7 2407 2407
397/ —) 2 4 6 1 1 0 0 2 4 0 4 27 0 0 0 27 971 0 971 998
BAN|THIVEES — < IL—TFI 1 1 1 1 0 0 0 1 1 0 1 31 0 0 0 31 1600 0 1600 1631
35 [T HIVBEEER (2 —ZFILAE)L) 2 4 4 2 0 0 0 2 4 0 4 14 0 0 0 14 9160 0 9160 9174

PRHFRE © FERR22FE




OBt ERUVBEEDONRILFEYERIEFHER
1. B - BEIERIOSKE (EER)

x®1-2 #HEFRR - £25E
(5/6~R=2)

sz BEBEFL) HEHE () BRI () HFH R (ko/ 59" 4449788 dng- TEQ/ %) e SR
-5
% - o
T TIK3 =
) WEAT et | m | om |k |k [t | mu |ont | = [ & |est| xn | B8P | tm | mu | ax [ PGP | Ko | e
w| B
3BIN=4—2 v =TFIL-N — (4—I 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0

FIARYYAN) —3, B-—IXFIRY
VERSIR RIBHTTITI/IIR)

61 |7FI=(R) —2—[4— (4—->7F 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 2 0 2 2
J=2=70FAT7T/FY) Tz /%
v] FoEd+r—k (BE&>OKRy TI

FIb)
waly—o v )—TFL=4— ( {[ (1, 1 0 1 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
B=—IUAFI—=-5—-Tx/FT—-4-ES
V)W) AFVFV] PI)AFV} XF
&)ﬁ;??—h(ﬂ%71yED$>
69[2— (4—49—2vY—TFILTxT/F 1 1 1 1 0 0 0 1 1 0 1 1 0 0 0 1 0 0 0 1

V) voanFYI=2-JOEZ)L=2
W74y b (BIE£7O/00Fy MRiE

BPPS)
374 |3 o (b KER UV F DIKAMKIE 19 5 32 3 17 0 0 20 5 0 5 2025 2399 0 0 4424 | 161355 0| 161355 | 165778
4|1 —JoEO/RY 2 0 2 2 0 0 0 2 0 0 0| 110870 0 0 0| 110870 0 0 0| 110870
32/ < —~xH 169 1| 169 ] 169 0 0 o] 169 1 0 1 17604 0 0 0 17604 1000 0 1000 18604
395 [RILA F YV ZHRER DIKIB IR 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 6 0 3 6
) S 173 o 193] 167 6 0 o] 173 0 0 0 1454 1 0 0 1464 0 0 0 1464
40212 — (2 —RUYFF7IYIAFY) — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 11 0 11 11
N=—XFILT7ERTZUR (BI&ATTFH
vy k)
405 |1 5 F(LEY 23 9 37 1 22 0 0 23 8 2 10 11 2887 0 0 2898 15397 17 15414 18312
406 R EILED =)L (BIZPCB) 6 0| 26 0 6 0 0 6 0 0 0 0 6 0 0 6 0 0 0 6
407 | RY (FAFx>ITFLY) =7IFILIT—F 3 3 4 1 2 0 0 3 3 0 3 1500 165 0 0 1665 6035 0 6035 7700
I (PIVFIVEDRFHEN1 20515 F
TOLDORUVZDEEWICRD, )
409 |RY (AF>ITFLY) =RFVILI—F 0 1 1 0 0 0 0 0 1 1 2 0 0 0 0 0 150 1 151 151
VBT ZTILF b YDA
410 |RY) (AFx>TFLY) =/)=Z)7x=)b 1 4 4 1 0 0 0 1 4 0 4 0 0 0 0 0 55003 0 55003 55003
II—7J)
A |EILLTILTFER 1 2 2 1 1 0 0 2 2 0 2 34 10 0 0 44 181 0 181 225
MR AVRTCFDILEY 15 6| 32 0 15 0 0 15 6 0 6 0 947 0 0 947 33791 0 33791 34738
MalEKRT LA VR 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
45| X5 5 ) JUEE 1 0 1 0 1 0 0 1 0 0 0 0 1 0 0 1 0 0 0 1

PRHFRE © FERR22FE



OBt ERUVBEEDONRILFEYERIEFHER
1. B - BEIERIOSKE (EER)

x®1-2 #HEFRR - £25E
(6/6~R=2)

s R MESHATH () SR () ) SR (ko/4F ;5" (1427 8ing-TEQ/5F) BRE (o R
-7
E| T Toki# §§f
7 (=¥
) WEAT et | m | om |k |k [t | mu |ont | = [ & |est| xn | B8P | tm | mu | ax [ PGP | Ko | e
| & BE
TIIN=XFIALNRIVERT —FTFIL (B 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 HILNYILRIENAC)
BBIXFIFTIL Y 18 0| 21 18 0 0 0| 18 0 0 0 1270 0 0 0 1270 0 0 0 1270
MBIAFLVER (4, 1—7x=LY) =¥ 0 1 2 0 0 0 0 0 1 0 1 0 0 0 0 0 63 0 63 63
1Y T7x—b
BIIN— (6—XKFP—2—-EYI)) — 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 4 0 4 4
N—XFLFFHLNI VBERO—3—5—
9«()') —7FLT7z= (BIBREY TFH
)LD
460 |[UAEERNY FYIL 0 1 1 0 0 0 0 0 1 0 1 0 0 0 0 0 8 0 8 8
&5t 1503 | 181 | 2207 | 1256 | 259 0 8| 1523 | 179 | 11| 190| 1586633 | 12551 0 24| 1599208 | 641003 59| 641062 | 2240270

PRHFRE © FERR22FE




